TRIVEERIGREBERRT = ARFHRPENRS
ERR3058 H10B ~12H
HE R ER T = Aa—hk

1ELFFZT IR
L RF - (/B ) MR- BEE (M2 db ) 16
2-1 1-8
2 REIRE-BRE (V8 B8 ) ——— |- AR (FE#) 17
1-1 2-5
sJae/hg (1 m ) — B oeofF AR (EEE) 18
3-1 1-9
43R ARHE (FFHR) BRES A (F £ ) 19
1-2 3-3
5 VEH . B4 (FEkdL) —— JIl s « BB (B ) 20
2-2 1-10
6 ift-&7 (B K ) L hp-BHECK ) 21
1-3 2-6
TSR (B R ) —— HOH - EOMmB) 22
4-1 4-2 1-11
5-1
SHEM-EHEIE (B K ) —— g m - (EEd) 23
1-4
9 WA K%L (EkL) FRE-KA (W B ) 24
2-3 1-12
10 $h%8F - HF (GHF-PH) ——— K T-FH(E JKE ) 25
1-5 2-7
11 FH-%H (%A MAR-LTF (M 2 ) 26
3-2 1-13
12 B3 (/" %) HHRE (R 27
1-6 3-4
13 e 71l (42 db ) —— - Kk (i) 28
2-4 1-14
14 T)-#8 (/N #E%) ke KA (B R ) 29
1-7 2-8
15 VR H - )1 (i 3R ) ——— BAR-FE (B F ) 30
1-15
" - R () 31



